Intersection point of two line segments
Specification:
Given two line segments by the coordinates of their endpoints, determine whether they intersect. The end points of the line segments have to be given as a list, the endpoints are considered to be included in the line segments. The expected result has to be given as well, whether they intersect or not. If they intersect, the expected result should be the coordinates of one of their intersection points. If they don’t have intersection points, the expected result is NULL. The output of the program is whether the expected and actual results are the same.   
The input format is the following:
[[e1x, e1y], [e2x, e2y], [f1x, f1y], [f2x, f2y]] [Result] 
· where `e` denotes the first line segment with its endpoints being `e1` and `e2`, 
· `f` is the second line segment defined by `f1` and `f2`,
· and the `Result` is the expected outcome. It can be either the coordinates of an intersection point of the line segments, or `NULL` if the lines do not intersect.
If the expected result is the same as the actual result, the test passes, otherwise fails.
Examples:
· #1: Intersecting line segments
· Input: [[-2,-0.7], [0,2.6], [-1.6, 1.7], [1.5, -1]] [-0.9,1.1]
· Output: PASS
· [bookmark: _GoBack]#2: Line segments without intersection
· Input: [[1,1], [0.5,3], [3,2], [0,-1]] [NULL]
· Output: PASS
· #3: Intersecting line segments
· Input: [[-2,-0.7], [0,2.6], [-1.6, 1.7], [1.5, -1]] [NULL]
· Output: FAIL
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